Transformations Notes

Example 1: Vertical Shift

Given f(x)=x’, graph each new function, without technology, and describe the effect of £ on
the original graph. Determine if the transformed function is even, odd, or neither.

a. g(x)=r(x)+3 b. h(x)=f(x)-2
a. gx)=f(x)+3 = X@ %73 k=3 so the graph is shifted up 3 units.
Ya The transformed function is neither odd nor
8 even.
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Example 2: Horizontal Shift

Given f(x) =], graph each new function, without technology, and describe the effect of & on
the original graph. Determine if the transformed function is even, odd, or neither.

b. \Akv H\AaVIA 3 vﬂ\w s f/ : k =—4 so the graph is shifted down 4 units.
Ya The transformed function is neither odd nor
8 even.
$117
11
1
Py T
4 ! >
p A ¥
/2
71 H)
- C |7
e
1
f APy
v

Secondary Mathematics 3 Page 75 Jordan School District

.

a g(x)=s(x+2) b. h(x)=f(x-5)
a  g(x)=f(x+2) = {x+2.\ k =2 so the graph is shifted left 2 units.
Ve g (x) The transformed function is neither odd nor
8 > even.
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b h(x)=f(x-5) = { % =6\ =5 so the graph is shifted right S units.
Ve The transformed function is neither odd nor
8 : even.
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Example 3: Vertical Stretch

9<o=.\.AKv = Rp , graph each new function, without technology, and describe the effect of k
on the original graph. Determine if the transformed function is even, odd, or neither.

a  g(x)=3s(x

Example ¥ Reflections

Given f(x)= Jx , graph each new function, without technology, and describe the effect of & on

the original graph. Determine if the transformed function is even, odd, or neither.

a  g(x)=3/(x) = @VA\N.

k=3 so the graph is stretched vertically by a
factor of 3.

a. g(x)=r(-x) b h(x)=-f(x)
a g(x)=r(- uv - ﬁlvM. Mxmum —1 so the graph is reflected across the y-
YA
6 : The transformed function is neither odd nor
R even.
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b. ixvnw\ﬁav = .\WVA\P »uw so the graph is stretched vertically by a
\4 factor om._..
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k =—1 so the graph is reflected across the x-
axis.

The transformed function is neither odd nor
even.
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........................................... Transformations of Parent Graphs mum%r«\ SR O SN A
Parent Graphs G(x) = f(x) - 2 G(x) = f(x+3) G(x) = - (x) Glx) = f(- x| &)= xkdl 2
ﬂAxv =X OAXV =X-2 OAXV = Ax...wv A mﬁxv .Axv OAXV -~ A-xv OAXVH:Ax+HV+N
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